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1. Computational — normal scientific calculations

oD

2. Statistics — data handling & regression

3. Table — graph work & functions

1:COMP Z12TAT

Z1 TRELE

How to CLEAR (Initialise) your calculator:

(sHiFT) (9] (3] (=] (AC)

This returns the MODE & SETUP to the initial default settings
& clears the MEMORY.

MODE 1: Computational

A.COMMON FRACTIONS

Example:
9,1
5 4

=4 Improper fraction
20

Calculator Key:

Conversion between improper fraction and decimal
$oD)

= 2,05 Decimal ) ) ) )
Conversion between improper fraction or decimal
= 2% Mixed number to mixed number
8 11
1. —x— 2. —+—
3 2 3
= S OR ...cccoeene OR ...cccoeene = S OR ...ccccoeee OR ..o,
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B. MIXED NUMBERS

1 23 542
4 12
Calculator Keys:
= ST OR ..cccevenes OR ..ccoevene.
2. —11 3t
2 4
Calculator Key: leading minus sign
= ST OR ..cccevenes OR ..ccoevene.
C.EXPONENTS Calculator Keys:
1. (4%)° SO 2. 25+3% =
D. SURDS Calculator Keys:
1. % SO (0] SRR (0] SN, 2. 3729 - 3/19683 =............
7 6 _ 1 1
3. U78125- %1000 =............ 4 \/132 _ 2><\/132 io=
Casio Scientific Technology Tip
ONLY use when switching the scientific calculator on.
To clear your screen, rather use this saves your calculator’s temporary memory
(see the A inthe top right corner of the screen)
Use OIC to review previous calculations.
How to set your calculator to round off to 2 decimal places
. = Key Sequence:
1iMChIO ZiLinelIO
Z:0e3  4:Rad T
SiGra SIFix Now select decimal places :
TiECL S8 MHorm @
How to clear your calculator from rounding off to 2 decimal places
. ol 3 e T Keys Sequence:
1iMChIO ZIiLineIO
Zi1bea  4:Rad Mo 1
=i Era SiFix Select :
TiEC1 S8 Morm @
Norm 1 is the default setting and gives answers in scientific notation. e.g. 1 + 50 000 = 2 x 10
Norm 2 is generally preferred as answers are only expressed in scientific notation when they are too
big to fit on the screen. e.g. 1 = 50 000 = 0.00002
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SCIENTIFIC NOTATION

A.CONVERTING FROM SCIENTIFIC NOTATION TO A WHOLE NUMBER OR

DECIMAL
Convert the following to ordinary notation:
1. 3x10%=..cee,
Calculator Key:
2. 469%x10°=...ccceurirnen,

B. CONVERTING TO SCIENTIFIC NOTATION

L
Convert the following numbers to scientific é EE; 1o E Iﬁ;ge 1d
notation with four significant digits: S Gra S:Fixw
SET UP FREC Sia Horm
1. 1267 =.....coovve

(SHIFT| [MODE] | 7 |

Now select the significant digits
ZCi O~ (@)

C.ENGINEERING KEY E

Transforms a displayed value to engineering notation
(x10 to the power of multiples of 3)

ENG shifts the decimal point to the right.
SHIFT ENG shifts the decimal point to the left.

POLAR & RECTANGULAR CONVERSIONS

Pol Rec

== f—

Pol converts rectangular coordinates to polar coordinates.
Pol (x,y)=(r, 6)

To convert rectangular coordinates o Mith &
(WZ V2) Poll42,42]
to polar coordinates
FEEDOEINED®DE =2, 6=45

Rec converts polar coordinates to rectangular coordinates.
Rec(r,60)=(xY)

To convert polar coordinates o
(V2 , 45°) Rec( 42, 45)
to rectangular coordinates
EEEDEOEIDEDEDE =1 1=1
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CIRCLES, ANGLES & ANGULAR MOVEMENT

MIODE] 1

h—— 1:COMP ZISTAT

| ﬁ J: TRELE

A. Converting from Decimal Degree notation to Degree-Minute-Second (D-M-S) notation

Express 236,345° in D-M-S notation: ] Math &
— a6, 345
2/(3]16)[*])13][4]|5]|=]]o»
23e% 207 42"
B. Converting from D-M-S notation to Decimal Degree notation
Express 75°23°54” in decimal degree notation:
T115]lses] |2]13] |99 | 5] |4] |ooss] |=] |coss
[ Math &
ThE23RR4"
7h. 398830
NOTE:

« Aradian is a measure of the size of an angle and is equal to approximately 57,3°. It is equivalent to
the angle subtended at the centre of a circle by an arc equal to the length of the radius.

0°=0rad; 90° = % rad; 180° =m rad; 270° = 2?" rad and 360° = 27 rad.

« Agradian is ﬁ th of a full circle. It is also known as a ‘grade’ or a ‘grad’.
0° =0grad; 90° =100 grad; 180° =200 grad; 270° =300 grad; 360° =400 grad.
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DRGF PrefAns

@~

Ll =
0o
I-a
-

C. Converting from Radians to Degrees

1) Convert %” to degrees

e) 71,72° to Radians

1,25175014 rad

5] (sHFT) (x107) (=] (4] @ [shiFT) [ang) (2] (=
[C] Math &
Shy
dd
20
2) Convert 1,5 rad to degrees | B = Wath &
1)) 5] [SHFT) |Ans| | 2 [=
ah, 34566927
D. Converting from Degrees to Radians
LJ [Fi Math &
SHIFT Leosne L 1:MthIO Z:iLineIO
| Fileea 41 Rad 4
I e = SiFix
| FiECi  SrHOrm
Convert 120° to radians @ Math &
— 120
1/12]) 0] (SHIFT| [Ans] [ 1 ] [= o
I
Convert:
a) 47,7° to D-M-S notation 47°42°0”
b) 23°12’ to Decimal Degree notation 23,2°
C) gto Decimal Degree notation 25,71428571°
d) 2 rad to Decimal Degree notation 114,591559°
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PRIME FACTORS

Find the prime factors of 458 631

(4] (5] (8] (6] (3] (O] (=] [stFT) fory

455651

3<x131%389

TRIGONOMETRY
A.FINDING THE VALUE OF TRIG IDENTITIES

Find the value of:

1. cos30° =i, NB!
You must close brackets for trig
i ° o functions with more than one
sin315°.cos150° o 0 O

identity.

tan 60°.cos300°

B. FINDING TRIG ANGLES

Example:
_ J3 Key Sequence:
sin 6’=7 ([sHiFT) (sin) (=] (va) B & & 2 ®» =
0=60"
MEMORIES

A FLT B C sin" D cos? E tan’ |

(=) (ess»» ‘hyp [sin (cos [tan

sTO = 0 ' X BZORY M- M

R ene (0 T) s (m+

To assign the result of 3 + 5 to variable A (3) (+) (5]
To multiply the contents of variable A by 10 X0 =
To recall the contents of variable A

On the calculator, financial maths calculations are done as a continuous calculation.
If you use the memory keys, you do not have to key in the same numbers repeatedly.
This helps save time and prevent confusion.

e The Memory Keys save time — less calculator keys are pressed.
e The Memory Keys do not have to be cleared to be used again. When saving a new value,
it overwrites the existing value.
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MODE 3: Table

M:iE.E ':.:TI_.P 1 : I::I:IMFl

Z1ETAT

J: TREBLE

A.GENERATE TABLES TO SKETCH GRAPHS

1. y=2x+3 -1<x<3

Key Sequence:

e Input f(x)formula B
to input the variable x:

. g=E

e Set boundaries for your table:
Start? @ O3
End? (3] 3
ster? (1 (=)

e And the co-ordinates to plot are:
(-1;1)(0;3)(1;5)(2;7)(3;9)

On screen:

fxI=0%+
ﬁ Fiﬁll

1
f Fina
1

il

Remember: returns you to the formula

2. Find the points of intersection of the straight line f(x) = x -3
and the parabola g(x) = x> —x -6 when x e [- 3 ; 4]

Point of Intersection (3;0) —

Key Sequence: On screen:
e Input f(x) formula & fiw1=n—
e Input g(x) formula
o Se? bo%(nt)jaries for the table: =l =."-‘-’.E -4—hb
Start? @ E] Math
Endd? (@) &) : b 2 F“'”lE u:c:-:JE
Ster? (D ) = | | B
// 0 Math .
Point of Intersection (-1 ; -4) ' " Fi:-:::a EII:-:IlE
o I

o
s n FIII-IIII:I IEIZHIID

nmmJa

- |
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*ZOOM IN * and find the turning point of g(x)

Key Sequence: On screen:
[ ] (U] mam
e Change the boundaries of the table pir | P15 0
start? (0 5 2025 -2,75 | -5, 1B
End? (1 (= ) ) e
Reduce the STEPS/INTERVALS - Sam | s
for a more detailed table. g 0. 15 -E.EE 6. |81
sten? D@ EE / : -
Turning point of g(x): (0,5 ; -6,25)
7 -
6 1 9(x)
5 -
4 .
3 .
2 .
1 - f(x)
4 N s s
-2 -
-3
_4 .
L5 -
-6 @
7]
3. Compare: y =sinx and y = cos X x€g[0°;360°]
Key Sequence: On screen: . .
e Input f(x) formula & fixI=sind)  glAl=cosCal
e Input g(x) formula u o
e Set boundaries for your table: |l | T |
Start? (0] =] g 3t o —
End? (3] (6] (0] (Z] i
W | Fiy | Goi
You need to carefully select the STEPS 4 BB r
(or INTERVALS) for your graph. £l il
Consider the equations as a guideline.
ster? (@ 3
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B.SOLVING EQUATIONS IN TABLE MODE
Quadratic equation x*-5x+6=0

Generate a TABLE for the equation & read off the x value where f(x) =0

Key Sequence: On screen:
e Input f(x) equation B
to input the variable x:

FLHI=HE -Fi+h
. g=03

e Set boundaries for your table:
atart? (=)(6]) (=)

End? (8) & .
Step? (D =) 1]

f(x)=0atx=20rx=3

Math

]
] Fixd

—

DOMAIN: Negative & positive values of the constant

STEPS: Reciprocal of the co-efficient of the highest power of x

DON'T FORGET
f(x) & g(x) — 20 x values
f(x) — 30 x values

HOW TO CHANGE:

rabsc Zidec Select Tree?

:3TAT d4:iTAEBLE 1:fix)

tbhize  SipAPO @ Zifixl.alix]
ACOHT B

- N L=

SHIFT ™®

C.FINANCIAL MATHS IN TABLE MODE

R1 000 is invested at a compound interest rate of 10% per annum.
Calculate the value of the investment after:
I. 1year
. 2years
ii. 3 years
Iv. 4years It is useful to do this in TABLE mode because n is changing.

Technical Maths



Given:

. 10
= =10% = —=01 = =7
P =1000 I =10% 100 n=x A
A=1000(1+0,1)"
Key Sequence: On screen: 3
e Input f(x)formula & fral=1000cC1+, 10k
.« g =5 .
e Set boundaries for your table: fo =400 1+, 125
Start? (J (=
End? (4] (=) F i
Step? (D ) . ﬁé Hi:
i. 1 year, A=R1 100,00 u F':E:'
ii. 2years; A=R1210,00 | a1 1331
jii. 3years; A=R1 331,00 o | '* !
iv. 4years; A=R1464,10

Check out our website www. casio.jamesralphedu.co.za

for more calculator educational resources

DISTRIBUTOR OF CASIO PRODUCTS IN SOUTHERN AFRICA

AN JAMES RALPH (PTY) LTD

HOME  OUR PRODUCTS WHERE TO BUY  SERVICE CENTRES MANUALS EDUCATION
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